54

2008 7

- MARKET

(DEA)

w=atbi+cj

(Set Pair Analysis,

SPA)

-1

[' 111]



abc

at+b+c=1

(Y w

MARKET-
4,
2
M M M M n
C C G C, m
d; i=1,2,3 m j=1,2,3
H
d, d, ~ d,
b= 2 dzz n 2n 3
A A AA
160/ dml dm2 n dmﬂ
()
M=oy die dis " do "~ do)
i
di<dy ,a;=d;/dy;
bij aij+bij+Cij=l
¢=0 b=1-a; ug=ayt(L- ayis,
bij<0-5 1iij:bij;
1
X X X, X
C, 0.80 0.6 0.67 0.84
C, 112 108 115 120
C, 0.82 0.68 0.72 0.85
C, 0.6 0.45 0.48 0.52

2008 7

n

55



] - MARKET
b;>0.5 ,ij=- by 5
(5)®6) w=atbi+cj
Q 0 1
ull L'112 n uln 1
o Uy U, A U, . 6)6)
- N N N N Q
n 0.84 0.76 0.7789 0.8656
uml umZ umn
10,9656 1 0.9428 0.91
| 0.8524 0.7824 0.7984 0.8725
0.76 0.1475 0.2096 0.7504
W=, W,
Aw N W) W=(0.750 0.223 0.133 0.074)
M MO R=Wx Q= (0.7759 0.8679 0.7712
R 0.8637
Uy, Uy U, U,> u,> Up> U
U, Uy Uy, %,
R=Wx Q=W w, "~ W " w) =y U,
N N N
uml m2 umn
Aup Uy 7
U; Ui
u=maxfu}1< j€ mp [1,2,...,m]
4 M M, M
M,)
45 ‘211 "
2
2.
1
2007
40% $7070210 *
56 2008 7



